
S = 27,6 kVA
P = 24,2 kW
Q =-13,4 kVAr
Ibs = 39,9 A

R1

S = 6,7 kVA
P = 6,0 kW
Q =-2,9 kVAr
Ibs = 9,6 A
(L1, L2, L3)

S = 3,3 kVA
P = 3,0 kW
Q =-1,5 kVAr
Ibs = 4,8 A
(L1, L2, L3)

S = 7,5 kVA
P = 6,0 kW
Q = -4,5 kVAr
Ibs =10,8 A
(L1, L2, L3)

S =17,1 kVA
P =15,2 kW
Q = -7,9 kVAr
Ibs =24,7 A

R2

S = 1,1 kVA
P = 1,0 kW
Q =-0,5 kVAr
Ibs = 1,6 A
(L1, L2, L3)

S = 7,5 kVA
P = 6,0 kW
Q = -4,5 kVAr
Ibs =10,8 A
(L1, L2, L3)

S = 7,5 kVA
P = 6,0 kW
Q = -4,5 kVAr
Ibs =10,8 A
(L1, L2, L3)

S = 3,7 kVA
P = 3,0 kW
Q =-2,2 kVAr
Ibs = 5,4 A
(L1, L2, L3)

S =3,5 kVA
P =3,0 kW
Q =1,9 kVAr
Ibs =5,1 A
(L1, L2, L3)

ZASILANIE Z ROZDZIELNICY GŁÓWNEJ RG
(PROJEKT RG WEDŁUG ODRĘBNEGO OPRACOWANIA)


